
DOOR ON PALLET RACK

WAREHOUSE PARTITIONING

88754729 ver. 004 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36907090

1/5

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D

https://instructions.online/?id=2345-88754729


Kit 369070902/5 www.troax.com

Kit Pallet Rack 36907090

A
rt

 n
o

: 8
87

54
72

9 
ve

r. 
00

4

513

x3 x8x3x3 x5

x11 x3x6

M8x55 Flange M8x25 M8x20 M8x16

M8x24x2 M8x35x3M8

Kit 7090

Hinged Door Sliding Door Single Rail Sliding Door Double Rail

+ Kit   36800100
+ Kit   36800240
+ Kit 7730
+ Kit 7740 
+ Kit 7750 
+ Kit 7760 
+ Kit 7800
+ Kit 7810 
+ Kit 7820 
+ Kit 7830 
+ Kit 7880 
+ Kit 7890 
+ Kit 7900

+ Kit 6500
+ Kit 6530
+ Kit 7600
+ Kit 7610 
+ Kit 7620 
+ Kit 7630 
+ Kit 7640
+ Kit 7650 
+ Kit 7660 
+ Kit 7670 
+ Kit 7680 
 

+ Kit 6430
+ Kit 6470
+ Kit 6540
+ Kit 7600
+ Kit 7610 
+ Kit 7630 
+ Kit 7690 
+ Kit 7700
+ Kit 7710 
+ Kit 7720 
+ Kit 7670 
+ Kit 7680 
 



www.troax.com Kit 36907090 3/5

A
rt no

: 887545729ver. 004

Kit Pallet 
Rack 7090

Kit Pallet Rack 7090

Hinged 
Door

Kit Pallet Rack 7090
+ Door Kit

Kit Pallet Rack 7090
+ Door Kit

Sliding
Door
Single
Rail

1Kit Pallet Rack
 7090 
+ Door Kit

1

+ 

1

2

2



Kit 369070904/5 www.troax.com

A
rt

 n
o

: 8
87

54
72

9 
ve

r. 
00

4

2

Kit Pallet Rack 7090 + Door Kit

3

Kit Pallet Rack 7090 + Door Kit

Sliding Door
Double Rail

1

Kit Pallet Rack 7090 + Door Kit

2

Kit Pallet Rack 7090 + Door Kit

3

Kit Pallet Rack 7090 + Door Kit



www.troax.com Kit 36907090 5/5

A
rt no

: 88754729 ver. 004

4

Kit Pallet Rack 7090 + Door Kit

5

Kit Pallet Rack 7090 + Door Kit

For padlock

1

Kit Pallet Rack 7090 + Door Kit

For Cylinder 
Lock

1

Kit Pallet Rack 7090 + Door Kit


